
3 4

8

10

1 screw  M6x12 stainless A2-70 with washer and nylstop nut
2 screws M5x16  stainless A2-70 with nysltop, 2 washers stainless A2-70
1 screws M5x20  stainless A2-70 with nysltop, 1 washers stainless A2-70

M5 x3M5 x2

M5 x1M6L12mm  x1

M5 x3M5 x2

M5 x1M5 x1

M5L16mm  x2

M5x20mm x1

M5x20mm x3

M5L12mm  x2

M5 x2 x1 x1 x1 x1
M5 x2

1 M5L12mm x1

 M5x1 M5 x1
x1

2 M6L12mm x1
  M5x1

3 M5x20mm x1
M5 x1 M5 x1

4

a

a

b

b
5 M5x16mm x2

M5 x2 M5 x2

1 M5L12mm x1

 M5x1 M5 x1
x1

 

2 M5x20mm x1
M5 x1 M5 x1

M5x20mm x2
M5 x2 M5 x2

3


